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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Statistical tables can be used in the examination hall.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l ðLã]ð]¨¤ Sam]tOW¥ kq}ƒLzLt]¤ DkSpLY]¨LvOÐfLeV.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.

https://ditto.ws
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Answer any five questions

from 1 to 6. Each carries two

scores.

1. a) Classification based on

places like country, state,

district etc., is called .........

classification.

i) Chronological

ii) Geographical

iii) Qualitative

iv) Quantitative

b) What is relative frequency of

the class?

2. What are the sources of

secondary data?

3. Draw percentage bar diagram

for the following data :

1 oOf¤ 6  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

2 yVSWL¡ v}fU.

1. a) qL^|U, yUòLjU, ^]sæ fOa°]

pvRp Aa]òLjoL¨]pOtt

v¡«}WqeR¾ ...............

v¡«}WqeU IÐO v]t]¨OÐO.

i) yopmjVi]fU

ii) nPo]wLyVNfkqU

iii) YOeLfVoWU

iv) AtvOmjVi]fU

b) KqO WæLy]R£ BSkƒ]W

BvQ¾] IÍLeV?

2. h~]f}p cLãpORa Drv]a°¥

JRfsæLU?

3. fLRu RWLaO¾]q]¨OÐ cLã¨V

wfoLj mL¡ cpNYU vqpV¨OW.

(5 × 2 = 10) (5 × 2 = 10)

4. KqO cpNY¾]R£ yzLpS¾LRa

v]v]ifqU W¡SŸLy]yOWtORa

BWQf] WLe]¨OW.

5. W¦v}j]p¢yV yLÒ]¥

v]vq]¨OW.

4. With the help of a diagram, show

the shape of different types of

Kurtosis.

5. Explain convenience sampling.

Types of items A B C D

Quantity 10 40 30 20

(1)

(1)

(1)

(1)
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6. Match the following. 6. S\qOUka] S\¡¨OW.

7 oOf¤ 13  vRqpOtt S\Lh|°t]¤

JRfË]sOU 6 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

7. a) CSO  ò]f]R\áOÐfV:

i) RWL¤¨¾

ii) R\RRÐ

iii) j|P c¤z]

iv) oOURRm

b) ISI Rp¨Or]\ÿV KqO sZOWOr]ÕV

fáLrL¨OW.

Answer any six questions

from 7 to 13. Each carries three

scores.

7. a) CSO is located in ........

i) Kolkatta

ii) Chennai

iii) New Delhi

iv) Mumbai

b) Write a short note on ISI.

                                                       A             B

a) Most repeated value Median

JãvOU WPaOf¤ fve Bv¡¾]¨OÐfV o}c]p¢

b) ( ) 0X A∑ − = where A is an average Mean

( ) 0X A∑ − =  A IÐfV KqO wqLwq] o}¢

c) x value of point of intersection of two ogives GM

qºO K^}vOWtORapOU yUYom]ÎOv]R£ x v]s S^|LoNa]WV o}¢

d) If one observation is zero, the value of this average becomes zero Mode

JRfË]sOU KqO v]s kP^|oLpL¤ CT wqLwq]pORa v]s kO^|oLWOU SoLcV

HM

zL¡SoLe]WV o}¢

(6 × 3 = 18) (6 × 3 = 18)

(1)

(2)

(1)

(2)
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8. a) v]ŸnLYU kPq]Õ]¨OW.

yoxVa]Rp Nkf]j]i}Wq]¨OÐ

nLYR¾ ................... IÐO

v]t]¨OÐO.

b) SlL¨yV NYPÕV \¡\ÿ (FGD)
DkSpLY]\ÿV cLã SwXq]¨OÐ

v]iU v]wh}Wq]¨OW.

9. a) 1, 6, 0, 4, 2 IÐ} v]sWtORa

o}c]p¢ IÐfV ......

i) 0
ii) 2
iii) 6
iv) 1

b) qºO jÒrOWtORa AM 17,
GM 15 IÐL¤ CvpORa HM
We¨L¨OW.

10. fLRu krpOÐ v]sWtORa W~L¡RRŸ¤

c}v]Spx¢ We¨L¨OW.

3,  8.5,  12,  9,  16.5,  9,  14,  20,
18,  19,  20

11. a) 2 47, 98M M= =  BpL¤

W¡vV:

i) RskVSaLW¡Ÿ]WV

ii) RoSyLW¡Ÿ]WV

iii) kæLã]W¡Ÿ]WV

iv) SkLy]ã}v]s] yVW|PcV

b) 10 Cj°¥ V̈

2452, 24270,x x∑ = ∑ =

mode = 43.7  WL¥ k]SpuVy¦

R£ SWLIl]x|£V KLlV

yVW|PjyV WºOk]a]¨OW.

8. a) Fill in the blank.
The representative part of
population is called ...........

b) Explain the method of
collecting data by Focus
Group Discussion (FGD).

9. a) The median of the values
1, 6, 0, 4, 2 is ........
i) 0
ii) 2
iii) 6
iv) 1

b) AM of two numbers is 17 and
GM is 15, find HM of these
numbers.

10. Calculate Quartile Deviation for
the data given below.
3,  8.5,  12,  9,  16.5,  9,  14,  20,
18,  19,  20

11. a) Given 2 47, 98M M= = ,
then curve is ........
i) Leptokurtic
ii) Mesokurtic
iii) Platykurtic
iv) Positively skewed

b) For a group of 10 items,
2452, 24270,x x∑ = ∑ =

mode = 43.7. Find Karl
Pearson's coefficient of
skewness.

(2)

(1)

(1)

(2)

(1)

(2)

(2)

(1)

(1)

(2)

(1)

(2)
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12. a) KqO WPŸU v]sWtORa AÍqU

(rp]µV) 100, Dp¡Ð v]s 140

BpL¤ fLuVÐ v]s ...............

i) 100

ii) 40

iii) 180

iv) 60

b) fLRukrpOÐ v]sWtORa SD

WLeOW.

1, 4, 3, 2

13. a) aLmOSsx¢ IÐL¤ IÍLeV?

b) fLRu RWLaO¾]q]¨OÐfV

sLn¾]S£pOU WÒj]WtORa

I¹¾]S£pOU kŸ]WpLeV.

BvQ¾] kŸ]W fáLrL¨OW.

12. a) Range of a set of values is

100, the highest value is 140,

then the lowest value is ........

i) 100

ii) 40

iii) 180

iv) 60

b) Calculate SD from the

following data :

1, 4, 3, 2

13. a) What is tabulation?

b) Following table shows the

cumulative frequency table of

profit and number of

companies. Prepare a

frequency table.

14  oOf¤ 19  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

14. fLRu krpOÐ cLã RRkcpNYU

DkSpLY]\ÿV Nkf]j]i}Wq]¨OW.

City Sales

A 90

B 120

C 80

D 110

Answer any five questions

from 14 to 19. Each carries four

scores.

14. Represent the following data by

means of a pie diagram.

City Sales

A 90

B 120

C 80

D 110

Profit less than 15 30 45 60 75

No. of Companies 3 10 28 53 73

(2)

(1)

(1)

(2)

(5 × 4 = 20) (5 × 4 = 20)

(2)

(1)

(1)

(2)
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15. There are 50 students in a class

of which 40 are boys and rest
girls. The average weight of the

class is 44 kg and average weight

of the girls is 40 kg. Find the
average weight of boys.

16. a) An example of relative
measure of dispersion is .....

i) Mean deviation

ii) Coefficient of variation

iii) Range

iv) All of these
b) Calculate mean deviation

from median for the

following data :

15. KqO WæLy]Rs 50 WOŸ]Wt]¤ 40 Sk¡

B¦WOŸ]WtOU mL¨] Rk¦WOŸ]

WtOoLeV. WæLy]Rs wqLwq] nLqU 44

kg DU Rk¦WOŸ]WtORa wqLwq] nLqU

40 kg DU BpL¤ B¦WOŸ]WtORa

wqLwq] nLqU WLeOW.

16. a) r]Ssã}vV Rox¡ KLlV c]yVSk¡

xjV KqO DhLzqeoLeV:

i) o}¢ c}v]Spx¢

ii) SWLIl]x|£V KLlV&

Svq]Spx¢

iii) rp]µV

iv) CRfsæLU

b) fLRukrpOÐ cLãp]¤ j]ÐOU

o}¢ c}v]Spx¢ WºOk]a]¨OW.

17. A, B  IÐ]v qºO Cv£OW¥

BReÐ]q]¨RŸ ( ) 1,P A P=

( ) 2 ,P B P= ( ) 3P A B P=∩
IË]¤ fLRukrpOÐ 1P , 2P

IÐ]vp]¤ WºOk]a]¨OW.

a) ( )orP A B

b) ( )andP A B

c) ( )andP A B

d) ( )andP A B

17. Suppose A and B are any two

events and ( ) 1,P A P=

( ) 2 ,P B P=  ( ) 3P A B P=∩ , then

find the following in terms of 1P

and 2P .

a) ( )orP A B

b) ( )andP A B

c) ( )andP A B

d) ( )andP A B

Marks 20 18 16 14 12 10 8 6

No. of students 2 4 9 18 27 25 14 1

(3)

(1)

(3)

(1)
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18. ( ) 1
3

P A = , ( ) 1
4

P B = ,

( ) 1
12

P A B =∩  fLRu krpOÐv

WLeOW.

a) ( )/P A B

b) ( )cP A B∩

c) ( )/ cP B A

d) A, B IÐ]v C¢c]Rk¢c£V

Cv£OW¥ BSeL?

18. Let ( ) 1
3

P A = , ( ) 1
4

P B = ,

( ) 1
12

P A B =∩
Find :

a) ( )/P A B

b) ( )cP A B∩

c) ( )/ cP B A

d) Are A and B independent?

19. a) Which one is NOT a

probability sampling?

i) Systematic sampling

ii) Cluster sampling

iii) Simple random sampling

iv) Judgement sampling

b) Explain the method of

systematic sampling.

Answer any two questions

from 20 to 22. Each carries six

scores.

20. a) Draw a boxplot for the

following data :

3, 8, 6, 7, 3, 4, 8, 5, 6, 7, 4

b) Find the mode from the

following distribution.

19. a) fLRu krpOÐvp]¤

SNkLmm]s]ã] yLÒVt]UYV

AsæL¾SffV?

i) NWoLjOyQf yLÒVt]UYV

ii) Wæð¡ yLÒVt]UYV

iii) sZO NWoqz]f yLÒVt]UYV

iv) ^cV̂ VRo£V yLÒVt]UYV

b) NWoLjOyQf yLÒVt]UYV

v]wh}Wq]¨OW.

20  oOf¤ 22  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

6 yVSWL¡ v}fU.

20. a) fLRu krpOÐ cLã¨V

SmLWVyVSkæLŸV vqpV¨OW.

3, 8, 6, 7, 3, 4, 8, 5, 6, 7, 4

b) fLRu krpOÐ v]fqe¾]R£

SoLcV We¨L¨OW.

Class 30–34 35–39 40–44 45–49 50–54 55–59 60–64

Frequency 3 5 12 18 14 6 2

(2 × 6 = 12)
(2 × 6 = 12)

(3)

(1)

(3)

(1)

(2)

(4) (4)

(2)
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21. fLRu krpOÐ I¹U SYLtOWtLeV

a}U A KqO lOaVSmL¥ y}ye]¤

Aa]\ÿfV.

21. The following is the record of

goals scored by team A in the

foot ball season.

For team B, the average number

of goals scored per match was 2.5

with SD 1.25 goals.

Find which team may be

considered more consistent.

22. Four cards are drawn at random

from a pack of 52 cards. Find the

probability that :

a) They are a king, a queen, a

jack and an ace

b) Two are kings and two are

aces

c) All are diamonds

d) Two are red and two are

black

e) There is one card of each suit

f) There are two cards of clubs

and two cards of diamonds

No. of goals 0 1 2 3 4

Number of matches 1 9 7 5 3

a}U B pORa wqLwq] SYLtOW¥ 2.5

DU  SD 1.25 DU BWOÐO.

JfO a}o]jLeV WPaOf¤ ò]qf

(W¦y]ð¢y]) DttfV?

22. 52 WL¡cOW¥ Dtt KqO kL¨ã]¤

j]ÐOU 4 WL¡cOW¥ rL¢coLp]

IaO¾O. fLRu krpOÐvpORa

yUnLv|f WLeOW.

a) KqO W]UYV, KqO W|P¢, KqO ^L¨V,

KqO IpVyV IÐ]v

b) qºO W]UYOW¥ qºO IpVyOW¥

c) IsæLU cpoºOW¥

d) 2 \OvÐfV 2 WrO¾fV

e) KLSqLÐ]¤ j]ÐOU KqO WL¡cO

v}fU.

f) WæmOWtORa 2  I¹vOU

cpoºOWtORa 2 I¹vOU




